(3) @k Sm.)-History-GIDSE-B-1 & DSE—B—Z!CB@.

DSE-B-2
(Some Aspects of Society and Economy of Modern Europe : 15th-18th Century)
Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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[B(6th Sim,)-History-GIDSE-B-1 & DSE-B-Z/CBCSj (4)

[English Version]|

The figures in the margin indicate full marks.

1. Answer any three questions : 5%3
(a) What is meant by ‘Vassalage’?
(b) What does the term Renaissance signify?
(c) Write briefly about the scientific revolution in Europe.
(d) What do you know about the ‘Ninety Five Thesis’ of Martin Luther?
(e) Discuss the significance of the Printing Revolution.

(f) How would you explain the characteristics of the ‘new merchants’ of sixteenth century?

2. Answer amy one question : 10x1
(a) Discuss the causes of the decline of feudalism in Western Europe.

(b) Assess the contribution of John Calvin in the history of Reformation.

3. Answer any two questions : 202
(a) Discuss the features of the Humanist movement.
(b) Do you agree with Geoffrey Elton that the English Reformation was an act of the state?

(¢) How did the British and the French replace the Spanish as the leading commercial power in
seventeenth century Europe?

(d) Why did Industrial Revolution first occur in England?



